2-7. The m =20Kkg box A is released from rest and slides along the smooth fixed ramp and onto
the surface of ground. If the coefficient of kinetic friction between the ground surface and the

box is x4 =05, and the height of the smooth ramp follows a normal distribution

h ~ N(3,0.12) m, determine the distribution of distance s that the box traveled on the ground

when the box stops.
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Principle of Work and Energy:
0+mgh-F;-s=0
mgh — g mgs =0
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yszﬂ:i:Gm Ans.
e 0.5
o, = iah = i(O.l) =02 m Ans.
Hy 0.5



